N = 0l & At & Ml A

20209 &= =20l & L EFG |
N T == A
HM: N HACA FEH(LES/ROUALEESLS)

e n=Esd e (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
ME==Fa= 25,047,566 25,925,863 N 878,297

=2 6,773,563
J| 286,906
== 7,660,642
= 10,326,455
e HAIECA FSEH(DE/RIULYEEESWE) 3,628,558 4,587,713 N 959, 155
= 781,373
o 2,847,185
nEsd e 3,008,858 4,013,013 A 1,004,155
== 677,253
= 2,331,605
WREAH MAAE 1,427,600 2,210,600 A 783,000
201 AE2AH| 108,600 108,600 0
01 Ar®2teltl 8,600 8,600 0
= 0l & 8,600 8,600 0
O et ZH| 7,800
ozgx4¢ 800
03 AI2HH| 100,000 100,000 0
= 0l & 100,000 100,000 0
ogtltEsty T2 2A X 90,000
OXN=sIIM &9 XA 10,000
203 YR 1,000 1,000 0
03 AIEHF=XSRE=XIH| 1,000 1,000 0
= 0l & 1,000 1,000 0
ONsSANIGR =& 1,000
306 =H=2 1,318,000 2,101,000 A783,000
01 &9 =2 1,318,000 2,101,000 A 783,000
= 0l & 1,318,000 2,101,000 A783,000
ONdZ LIS IS 53 1,318,000
stngadd XA 1,538,258 1,772,593 N 234,335
= 659,253
= 879,005
308 XAXESHMSOIA 1,538,258 1,772,593 N 234,335
= 659,253
o 879,005
08 WEII2UHUEE=x 1,538,258 1,772,593 N 234,335
== 659,253




EAM: EEAEN
FM: WK dUEA FE(LE/RUHLEETSUR)
thelr nsEd e (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
08 wWsIIZ0UHSEx = 879,005
= 0l & 1,538,258 1,772,593 A 234,335
& 659,253
= 879,005
Ogwgaldl A& 1,538,258
& 659,253
= 879,005
Detd A stngal X3 43,000 29,820 13,180
= 18,000
v 25,000
308 AXHHMSO0IH 43,000 29,820 13,180
= 18,000
i 25,000
08 wWEIIZ0USE=x 43,000 29,820 13,180
< 18,000
i 25,000
= 0ff &F 43,000 29,820 13,180
=~ 18,000
= 25,000
oz s#IH sSuz=AH X 43,000
& 18,000
= 25,000
Nold Xl 619,700 574,700 45,000
= 104,120
= 515,580
MOITHE =S X & AHS 133,000 124,700 8,300
= 66,500
= 66,500
307 gIztold 133,000 123,000 10,000
& 66,500
= 66,500
11 AMISAASEES 133,000 123,000 10,000
= 66,500
= 66,500
= 0l & 133,000 123,000 10,000
= 66,500
= 66,500

|
no




SM: DEEAED
FM: WK dUEA FE(LE/RUHLEETSUR)
EHol: TIofoI® KR INY CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
OuW==X3ItE H=2H 133,000
= 66,500
i 66,500
A WS 201,700 200,000 1,700
201  Et2I| 1,700 0 1,700
01 At 2eltl 700 0 700
= 0l & 700 0 700
OEIISIRE AR oMM LY
100,000& +x7H 13| 700
02 22293l 1,000 0 1,000
= 0ff &F 1,000 0 1,000
osERZza 1,000
307 QIztold 200,000 200,000 0
11 AMSISAASEES 200,000 200,000 0
= 0ff &F 200,000 200,000 0
O%UEE WEXNA ALY 200,000
SStM NEXN(EX) 125,400 0 125,400
= 37,620
- 87,780
301 et 3 125,400 0 125,400
& 37,620
= 87,780
01 MIEBEHEE=SHS3 125,400 0 125,400
= 37,620
= 87,780
= 0l & 125,400 0 125,400
& 37,620
= 87,780
o= n=X& 418 300, 000& 125,400
= 37,620
i 87,780
st =13 159,600 250,000 A 90,400
301 etEdZ3 159,600 250,000 A 90,400
01 A EEES0H S 159,600 250,000 A 90,400
= 0l & 159,600 250,000 A 90,400
Onsstd =l 532 *300,000& 159,600
OtS S X AL (ArEI S X /H L HSKH) 6,492,888 5,647,850 845,038




fA nsFELE
H: OtsSSXAL (MEX/HAAHNSXE)

el OtssXAE 22 (e &
S-S (BN) - ANRAY - BAS (X o) o) HRE2
= 2,135,551
J| 26,350
& 884,592
= 3,446,395
Ots=XAE 29 2,956,297 2,606,593 349,704
= 257,770
| 16,043
& 406,602
i 2,275,882
Ols=EXNANE 29 1,768,724 1,943,000 AN174,276
307  2I2tol A 1,768,724 1,943,000 A174,276
10 MISANAEEHI2IHES 1,768,724 1,943,000 AN174,276
= 0l &F 1,768,724 1,943,000 AN174,276
OOtsS=EXNAE 22 1,768,724
OnN8M=& 601,404
ORcela=S4t 1,167,320
OFsSsEIAE 29(2x) 403,220 0 403,220
& 252,012
[ 151,208
307  QI2tol A 408,220 0 403,220
& 252,012
= 151,208
10 AMSSXAEEE2GHES 403,220 0 403,220
T 252,012
= 151,208
= 0l & 403,220 0 403,220
& 252,012
- 151,208
OOSEXNANE 2H(BxX) 403,220
& 252,012
= 151,208
OFSSXAIE SAX =g (=Hl) 98,800 96,200 2,600
& 29,640
= 69, 160
307  Q12t0l A 98,800 96,200 2,600
& 29,640
= 69, 160




SN

X ZH
S =

el

nEd3adEn
OIS EXNME (M EX/HAHSKH)
OSEXAE 2¢

o)
4
[pal
o

SH-EH. O (AN) - NRANY - B (X o) ) HDE2
10 AMIISAANEEHE2IHES 98,800 96,200 2,600
= 29,640
= 69, 160
= 0l & 98,800 96,200 2,600
= 29,640
i 69, 160
OOtsSEXNAIE M =
2,600,000& x38H 98,800
= 29,640
= 69, 160
Ots=XNAE AN B 15,480 18,000 A2,520
307  glztol & 15,480 18,000 A2,520
11 MISXNALEES 15,480 18,000 A2,520
= 0l & 15,480 18,000 A2,520
OOts=XAE SAL A=
30,0003 x43YH x 128 15,480
Ots=XANEIIsE2 15,824 20,000 A4, 176
J| 7,912
= 2,374
= 5,538
402 U2t =201H 15,824 20,000 A4, 176
J| 7,912
= 2,374
i 5,538
02 QAT 2AILEX(0I™THA) 15,824 20,000 A4, 176
| 7,912
= 2,374
= 5,538
= 0l & 15,824 20,000 A4, 176
J| 7,912
= 2,374
i 5,538
OOts=XNAIE JIsEZAS 15,824
J| 7,912
= 2,374
= 5,538
ANEotsdEe 298 XA (=0]) 379,680 299,400 80,280
= 189,840




SN

X ZH
S =

nEd3adEn
OIS EXNME (M EX/HAHSKH)

el OtssXAE 22 (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
= 75,936
= 113,904
307 glztol & 379,680 299,400 80,280
= 189,840
= 75,936
= 113,904
10 AL STAEEHE2ZHES 379,680 299,400 80,280
= 189,840
= 75,936
= 113,904
= 0l & 379,680 299,400 80,280
= 189,840
= 75,936
= 113,904
OXNgGotsdH 234 XA 379,680
= 189,840
= 75,936
= 113,904
ANeEotsdE 298 XA (=) 21,600 0 21,600
& 4,320
= 17,280
307  glztol A 21,600 0 21,600
& 4,320
i 17,280
10 AL EXANEEHE2LHEXS 21,600 0 21,600
= 4,320
= 17,280
= 0ff &F 21,600 0 21,600
= 4,320
= 17,280
OXYotsdEH 28l X2 (=Hl)
300,000 x12JH & *6IH A 21,600
= 4,320
i 17,280
ASGotsdEH = 298 X& 14,400 0 14,400
307 gIztold 14,400 0 14,400
10 AL SEXANEEE2LHEXS 14,400 0 14,400




SN

WEHEAE

HFH: OtsS=SAAG(AMSX/HLHSKE)
el OtsEXAE 29 (o2&
A EY - SA(B) - NS - B (X o) ) DS
= Off & 14,400 0 14,400
OXN<0otsHH Fot2Zdl X
200,000 * 1200 & *6IH A 14,400
NG 0tsdyH X 9,936 9,936 0
= 4,968
= 1,987
= 2,981
307 QIztol ™ 9,936 9,936 0
= 4,968
= 1,987
= 2,981
10 AL SXANEEE2ZHIES 9,936 9,936 0
= 4,968
= 1,987
i 2,981
= Ofl &F 9,936 9,936 0
= 4,968
= 1,987
= 2,981
oR=x=XgotsHdH XA 9,936
= 4,968
= 1,987
= 2,981
EQRRE N (XNLotsdH) 3,648 3,648 0
= 1,824
= 729
o 1,095
307 QIz2tol ™ 3,648 3,648 0
= 1,824
= 729
= 1,095
10 AL SXAEEE2IHIES 3,648 3,648 0
= 1,824
== 729
i 1,095
= 0fl & 3,648 3,648 0
= 1,824
= 729

|
~




SN DSHAED
M OlS=SXAY (MBSX/HAHESX)
Sl OISENANAL 29 (o :&e
x s . Of &t o8 & & 0 A o -
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) HwE2Z
z 1,095
OER2Y XAUNSHEH X2
3040002 %1274 2 +17§ A 3,648
= 1,824
= 729
= 1,095
XHOLSME SAX =2 (EHl) 31,200 26,000 5,200
= 9,360
= 21,840
307 Q1201 H 31,200 26,000 5,200
= 9,360
= 21,840
10 ASISXALHT 2 BE 31,200 26,000 5,200
= 9,360
= 21,840
=0 o 31,200 26,000 5,200
= 9,360
= 21,840
OXHOLSHEl ZAR &g
2,600,0002 *12% 31,200
= 9,360
z 21,840
XGOS MIE Lty X 9,000 8,800 200
= 2,700
= 6,300
307 QU201 H 9,000 8,800 200
= 2,700
= 6,300
10 ASISXALHT 2 BE 9,000 8,800 200
= 2,700
z 6,300
20 & 9,000 8,800 200
= 2,700
= 6,300
OXISOSHE Wit X
1,500,000 *6H £ 9,000
= 2,700
z 6,300

|
oo




SN

X ZH
S =

wEFAEY
OIS EXNME (M EX/HAHSKH)

el OtsEXAE 29 (o2&
A EY - SA(B) - NS - B (X o) ) DS
NGotsdy s K& 42,540 60,000 217,460
= 21,270
= 8,508
= 12,762
402 U2t =20lM 42,540 0 42,540
= 21,270
= 8,508
= 12,762
02 QUAT2AILEZ(0IETHSA) 42,540 0 42,540
= 21,270
= 8,508
- 12,762
=04 42,540 0 42,540
= 21,270
= 8,508
= 12,762
OXYotsHE S#ZMA X 42,540
= 21,270
& 8,508
= 12,762
OFE =X DAL Tt 79,736 78,142 1,594
3 39,868
= 15,947
= 23,921
101 elAd4| 79,736 78,142 1,594
= 39,868
S 15,947
= 23,921
03 RIHAZZRE=S 79,736 78,142 1,594
= 39,868
< 15,947
i 23,921
= 0fl &F 79,736 78,142 1,594
= 39,868
= 15,947
= 23,921
O X S A3 = Xl ARl 24 HI 25,646




SN
X ZH -
L=

el

WEHEAE

OtsS=XAE 29

OFSSEXIAY (MBI SXI/HAHSKH)

o)
4
[pal
o

SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
[OPIE=r= 1,796,000& 120 & ~1H 21,552
= 10,776
== 4,310
o 6,466
OAMSIEE ¢ EA83 4,094
= 2,047
== 819
o 1,228
OO0IsS =X AF 2124 H| 54,090
O&FLH JI23 1,126,000 1200 & ~1H 13,512
= 6,756
== 2,702
= 4,054
OEAIZE D123 615,000& x12& «5H 36,900
= 18,450
== 7,380
= 11,070
OdLH A2 & g&223
2,568,000 x 1 2,568
= 1,284
== 514
o 770
OSAIZE MBS & g A2
18,5003 x 1201 & x5 1,110
= 555
== 222
o 333
Ots =X 1 A 44,084 23,600 20,484
101 ol 24 H| 44,084 23,600 20,484
03 RIAHLZZXHE S 44,084 23,600 20,484
= 0l & 44,084 23,600 20,484
O Xl < A3 = K| A 16,764
oJlea 653,000& 1200 & 1Y 7,836
OYg & sIty| 1,379,560 23| x1H 2,760
O&RHEHSH 105,000 120 & ~1H 1,260
OAlZteI = 17,4002 x 10A| 2tx 1200 & 2,088
o4tedg s 185,000& * 1200 & * 1Y 2,220
O&2 04l 50,000& x12& 600
OO0ts =Xl 1 At 27,320

_10_




SN

WEHEAE

HM: OIsS=E2XNAMA(MEEX/HLAHESXL)
©@2: OIsSsEXAdE 29 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
OY &E&EIty] 500,000& 23| x6H 6,000
oAM= 1,000, 000& *23| x6H 12,000
OA L& CH| 40,0003 *x5H 200
OIE= 130,000& * 1200 & ~4H 6,240
O4UEE S 40,000& 1200 & ~6H 2,880
NEotsESHEEI S 24 16,263 17,444 A 1,181
Dl 8,131
= 2,440
= 5,692
307 QIz2tol & 16,263 17,444 A 1,181
Dl 8,131
== 2,440
= 5,692
10 AISISXAIEEHES2IHIEX 16,263 17,444 A 1,181
J| 8,131
== 2,440
= 5,692
= 0l & 16,263 17,444 A 1,181
Dl 8,131
== 2,440
= 5,692
XA SESHEIN & &9Hl N 16,263
Dl 8,131
== 2,440
o 5,692
NEosEsdEI & 2H(THl) 2,162 2,423 N 261
= 649
= 1,513
307 QIz2tol & 2,162 2,423 N 261
== 649
- 1,513
10 AISISXAIEEHESIHIEX 2,162 2,423 N 261
== 649
iy 1,513
= 0l & 2,162 2,423 A 261
== 649
= 1,513

_11_




SN

WEHEAE

HM: OIsS=E2XNAMA(MEEX/HLAHESXL)
©@2: OIsSsEXAdE 29 (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
OXAZTUSESHNEIN & 89Hl N 2,162
== 649
o 1,513
ES0Is XN& 1,251,650 1,037,466 214,184
= 343,904
J| 10,307
== 257,211
= 640,228
SBSHaAOlsS XNE X 14,640 13,040 1,600
== 4,392
= 10,248
301 QetE M= 14,640 13,040 1,600
= 4,392
o 10,248
01 AISIEEAELG6= 14,640 13,040 1,600
== 4,392
iy 10,248
= Ol & 14,640 13,040 1,600
== 4,392
= 10,248
OJIEES0ts 244 XA
30,000 * 1204 & x22H 7,920
== 2,376
o 5,544
OJIEBESOls H&EAHS AA
100, 000& *23| * 18 Al CH 3,600
== 1,080
o 2,520
O230ts 121X 2IAIY
600,000& x13| x1H 600
== 180
= 420
ORFE 820t MYl X3 2,520
== 756
= 1,764
M8 /AEOlsS BESH K& 47,520 41,400 6,120
301 QBtE N = 47,520 41,400 6,120
01 AMISIEEE=6=2 47,520 41,400 6,120
= 0l & 47,520 41,400 6,120

_12_




M sELAEY
Y OlSESXNAD(AMISK/FHAAHSKHA)
te: ES0ts XE (e &
S-S (BN) - ANRAY - BAS (X o) o) HRE2
OJtE®E0ls 2548 XA
180,000 *12JH & x22H 47,520
OtsS 2 <RI A % 53,592 43,381 10,211
= 37,514
= 8,039
= 8,039
301 etEd32 53,592 43,381 10,211
37,514
& 8,039
= 8,039
01 AMIEFHE2HI3 53,592 43,381 10,211
= 37,514
= 8,039
= 8,039
=0 o 53,592 43,381 10,211
= 37,514
& 8,039
= 8,039
OOtsSZLL XA TAIS 53,592
= 37,514
= 8,039
= 8,039
Ot=s=zal K& 517,553 553,635 A 36,082
& 217,583
= 299,970
301 etgd3 517,553 553,635 A 36,082
& 217,583
= 299,970
01 AMSEXESHS 517,553 553,635 A 36,082
T 217,583
- 299,970
= 0l & 517,553 553,635 A 36,082
& 217,583
i 299,970
oslls SMNE(E, 2, 835Y)
4,500 x952 431 184,253
& 184,253
odsE gz AN 333,300

_13_




SN DRFAEDY
H: OISEXNAY (MSISX/HLHSKH)
B 2850s A R
x 5 - Ofl &k o4 T 0 At o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
Oels ZAX 22,550, 0002 «64 & 135,300
= 13,530
2 121,770
ogss sAK 4,500 *80L *550 198,000
= 19,800
2 178,200
DEE SAAHAY REAY 126,000 0 126,000
301 YerEAEZ 126,000 0 126,000
01 ANIEFELHZ 126,000 0 126,000
= 0jl &F 126,000 0 126,000
ONYE SHEY 2= 126,000
UAOtE IHEX 14,724 13,812 912
ol 10,307
z 4,417
301 YErEAE3 14,724 13,812 912
ol 10,307
2 4,417
01 AIEXELEZ 14,724 13,812 912
Jl 10,307
2 4,417
=0l & 14,724 13,812 912
ol 10,307
2 4,417
oOYLoSYFLLX A
150, 0002 * 120K & 4% 7,200
Jl 5,040
2 2,160
OZMYLOISLI+L X
627,000 * 120 & » 1% 7,524
ol 5,267
2 2,257
L UOS XA (=) 2,800 4,600 1,800
= 1,020
z 1,780
301 LuEmZz 2,800 4,600 A 1,800
= 1,020
2 1,780
01 ANIEXELE2 2,800 4,600 A 1,800

_14_




N T == A
HM: OIsS=E2XNAMA(MEEX/HLAHESXL)
9l RUS0IE X CERT
SNBSS (BH) - MEAY - B2 o @(ijf;lﬁ% HRE2
01 AISIEEE=6 =2 & 1,020
iy 1,780
= 0ff &F 2,800 4,600 A 1,800
== 1,020
o 1,780
OYA=st=2 X 1,000,000& *1H 1,000
= 300
= 700
OOHBM Ol & A0S LE=S XA
150, 000& * 1200 & =1 1,800
== 720
o 1,080
RESOIsS /2 1,460 1,170 290
== 1,460
301 QetE M= 1,460 1,170 290
== 1,460
12 JIEtE2AZ2 1,460 0 1,460
== 1,460
= 0ff & 1,460 0 1,460
= 1,460
oOEs0ls 92 1,460
OLBESOsS (= ,584) A2 500
== 500
OLEBESOS (D, sM) A2 960
== 960
g A0S ANEEEHZ A 45,000 60,000 A 15,000
o 4,500
o 40,500
301 Bt M= 45,000 60,000 A 15,000
== 4,500
= 40,500
01 AMISIEEE=6=2 45,000 60,000 A 15,000
= 4,500
iy 40,500
= 0l & 45,000 60,000 A 15,000
== 4,500
o 40,500
OElA0ISAHEHAZXNA 5,000,000 x9H 45,000

_15_




S REEAUD
HE: OIS =AA (MBI XI/FHANST )
te: ES0ts XE (e &
S-S (BN) - ANRAY - BAS (X o) o) HRE2
& 4,500
- 40,500
25520/ V42 U 97,200 29,798 67,402
2 77,760
& 5,832
- 13,608
301 detE2dZ 97,200 29,798 67,402
= 77,760
& 5,832
= 13,608
01 AMSEXEESHS 97,200 29,798 67,402
= 77,760
& 5,832
= 13,608
= 0l & 97,200 29,798 67,402
= 77,760
& 5,832
= 13,608
OEs&=0ts ME=Y X3
00,000& 120 & 27X 97,200
= 77,760
& 5,832
= 13,608
AN SO0ts NE XA 900 1,630 AT30
= 630
= 135
[ 135
301 etgd3 900 1,630 AT730
= 630
& 135
= 135
01 AMIEFESHI3 900 1,630 AT30
= 630
= 135
= 135
= 0ff & 900 1,630 AT30
= 630
= 135

_16_




SHAE Y
S=EXNAME (A SR /HAHSKL)
230ts X& (e &
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;lﬁ% HRE2
= 135
OZdAHEXsES NEX 900
=2 630
== 135
o 135
CHAEE SEAd 22 X 285,000 263,000 22,000
= 228,000
= 14,250
= 42,750
101 o124 d| 150,680 133,680 17,000
= 120,544
== 7,534
= 22,602
03 RIAHALZZXHE 150,680 133,680 17,000
= 120,544
== 7,534
= 22,602
= 0l & 150,680 133,680 17,000
= 120,544
== 7,534
= 22,602
OOlS S Atell 22l AH4H) 150,680
OO0l 4| 109,440
= 87,552
== 5,472
o 16,416
OAlZteI = 11,280
= 9,024
== 564
o 1,692
42 S(EAZxEE 27,560
= 22,048
= 1,378
= 4,134
Ol s 50,000 4G x12& 2,400
= 1,920
== 120
= 360

_17_




N T == A
HM: OIsS=E2XNAMA(MEEX/HLAHESXL)
9l RUS0IE X CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
201 B2 A 37,614 29,750 7,864
= 30,091
== 1,881
= 5,642
01 Ar®2telt] 14,250 14,250 0
= 11,400
= 713
iy 2,137
= 0ff A 14,250 14,250 0
= 11,400
== 713
= 2,137
O Yetx=2H| 14,250
OMNEESE ¥ 29 450,000 x12& 5,400
= 4,320
c 270
= 810
O%Id3 89 s 70,000 *5H *53] 1,750
= 1,400
== 88
o 262
OEEZHNHE S 3,000& *1,0000H 3,000
= 2,400
== 150
o 450
OAHHIE XHR22SE 200,000& 10H 2,000
= 1,600
== 100
o 300
OEEAEE d21E ¢ 29
300,000 x7H 2,100
= 1,680
== 105
o 315
02 =324l 500 500 0
= 400
o= 25
= 75
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N T == A
o OfS =AY (MBI =T /FHAHEX )
G4 RESotE XY (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;lﬁ% HRE2
=0l ot 500 500 0
= 400
== 25
o 75
03322 ¥ MA 500
= 400
== 25
o 75
03 HAI2HH| 22,864 15,000 7,864
= 18,291
o= 1,143
- 3,430
= 0l & 22,864 15,000 7,864
= 18,291
== 1,143
o 3,430
OEHAEIE &AL 29 22,864
= 18,291
== 1,143
o 3,430
301 et M= 96,706 98,570 N 1,864
= 77,365
= 4,835
o 14,506
01 AMSIEEEHLG = 94,706 97,070 N2,364
= 75,765
o= 4,735
- 14,206
= 0l & 94,706 97,070 N2,364
= 75,765
== 4,735
o 14,206
oZz ¥ FOHLA Ols X 94,706
= 75,765
== 4,735
= 14,206
09 SAIAHIXES 2,000 1,500 500
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N T == A
HM: OIsS=E2XNAMA(MEEX/HLAHESXL)
Chel: QB S0tS X2 (G2l )
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
09 AIAHIXAZ = 1,600
== 100
= 300
= 0l & 2,000 1,500 500
= 1,600
== 100
o 300
OEZEZ N FOUHA HALAH| 2 A 2,000
= 1,600
== 100
o 300
CEAEE(OISESMEIAXZ)(XHA) 45,261 12,000 33,261
101 ol A4 H| 45,261 12,000 33,261
03 RIAHLZ2ZXNHE S 45,261 12,000 33,261
= 0ff &F 45,261 12,000 33,261
OO0l=S S & Ardll 22l Ab 45,261
oJlea 375,000 1201 & »4H 18,000
OY &5yl 1,379,560% 23| *4H 11,037
(OFE =y 105,000& * 1200 & »4H 5,040
OIs=< 260,000& 1201 & 3,120
OA2te =% 23,000& * 1200 & *4H 1,104
o4H2g s 145,000& * 1200 & *4H 6,960
Ol=sE2X g4 XN 56,200 74,860 N 18,660
== 1,240
= 54,960
otssEl2sid 40,000 38,660 1,340
201 2AE2AH| 4,500 7,500 A 3,000
01 Ar®2teltl 4,500 4,500 0
= 0l & 4,500 4,500 0
O et ZH| 4,500
203 Y= 500 0 500
03 AMETYSETY| 500 0 500
=0 ar 500 0 500
O0tsgR=A 500
301 et M= 5,000 8,160 A 3,160
09 AIAHIXAS 5,000 6,000 A 1,000
= 0l & 5,000 6,000 A 1,000
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SN

WEHEAE

Y OlSESXNAD(AMISK/FHAAHSKHA)
o9 OlE=X EESA N8 CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
O0ts®I2 s 243 50,0003 *25% +43| 5,000
307  glztol A 30,000 23,000 7,000
04 QIZtHAIAIREE X 30,000 0 30,000
= Off & 30,000 0 30,000
ONelole A2l 30,000
Ots<I2gs &=l 6,200 6,200 0
= 1,240
= 4,960
301 etedza 6,200 6,200 0
= 1,240
= 4,960
12 JIEt2 A3 6,200 6,200 0
= 1,240
i 4,960
= 0l & 6,200 6,200 0
& 1,240
= 4,960
Oots<2d2s &=t 200,000 31H 6,200
= 1,240
= 4,960
Helol =0l H.Ex=AY 10,000 30,000 20,000
401 A&BIZ =208 10,000 30,000 A 20,000
01 Al&HI 10,000 30,000 A 20,000
= 0ff &F 10,000 30,000 A 20,000
ObtE 0eEol=0d HE= 10,000
HYsE ots 4 K& 2,228,741 1,928,931 299,810
= 1,533,877
= 219,539
= 475,325
Ots=< XI& 2,031,103 1,928,931 102,172
= 1,421,772
& 182,799
= 426,532
301 etEdza 2,031,103 1,928,931 102,172
= 1,421,772
= 182,799
= 426,532
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SN BSHLUED
Y OlSESXNAD(AMISK/FHAAHSKHA)
el 2B 01 AF KW CLR-E
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 A2EZH 03 2,031,103 1,928,931 102,172
= 1,421,772
= 182,799
= 426,532
= 0l & 2,031,103 1,928,931 102,172
= 1,421,772
& 182,799
= 426,532
Oolts=<X& 2,031,103
= 1,421,772
= 182,799
[ 426,532
Ors+g XNNMAIE =T (22 ) 444 0 444
= 311
= 40
= 93
201  etg| 444 0 444
= 311
= 40
= 93
01 Atz 444 0 444
= 311
= 40
= 93
= 0l & 444 0 444
= 311
& 40
= 93
O0ts< XIXMAILZX(2YHI) 444
= 311
= 40
i 93
CGENEs=sdH &XH K& 138,394 0 138,394
= 88,394
= 25,000
= 25,000
401 Al HIZ 20| 100,000 0 100,000
= 50,000
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SN DSHLED
Y OlSESXNAD(AMISK/FHAAHSKHA)
ool 2AUE O X X CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
401 Al&HI 20| = 25,000
i 25,000
01 Al&HI 100,000 100,000
= 50,000
= 25,000
= 25,000
= 0l &F 100,000 100,000
= 50,000
= 25,000
= 25,000
otusNssdH &EX(222d)
50,000, 0003 «2JH 2~ 100,000
= 50,000
= 25,000
i 25,000
405  RHA&HFE S 38,394 38,394
= 38,394
01 XIS EHSHI 38,394 38,394
= 38,394
= Ol &t 38,394 38,394
= 38,394
otusNssdH X (JINHMHTY)
19,197,000& *2J4 & 38,394
= 38,394
OGEHssdEH 224 XI& 43,800 43,800
= 21,900
= 10,950
= 10,950
307  glztol & 43,800 43,800
21,900
= 10,950
= 10,950
05 QULAESZ 43,800 43,800
= 21,900
= 10,950
= 10,950
= 0l & 43,800 43,800
= 21,900
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N T == A
HM: OIsS=E2XNAMA(MEEX/HLAHESXL)
ool 2AUE O X X CER-E
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
& 10,950
= 10,950
OHIE & 22,000
OPelAEI (D22 4088 EIXAE )
2,200,000& * 100 & =14 22,000
= 11,000
== 5,500
- 5,500
O A S8 1A 21,800
SEETICEER T EEREEEEES
1,090,000 x 100 & *x2H 21,800
= 10,900
== 5,450
= 5,450
Cels=sde 294 XA 3,000 3,000
= 1,500
== 750
2 750
307 212t0l A 3,000 3,000
= 1,500
== 750
o 750
05 QIZt?E= 3,000 3,000
= 1,500
= 750
iy 750
= 0ff &F 3,000 3,000
= 1,500
== 750
o 750
o2g=3 100, 000& *10& 1,000
= 500
== 250
= 250
OssZz)d 29 200,000& «10& 2,000
= 1,000
== 500
= 500
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M sELAEY
Y OlSESXNAD(AMISK/FHAAHSKHA)
ool 2AUE O X X CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
CGENssSdE 22 X3 (AA) 12,000 0 12,000
307 QIztol M 12,000 0 12,000
05 QUZtRAESZ 12,000 0 12,000
= 0ff &F 12,000 0 12,000
oO2I=3 100,000& 124 & 1,200
o233 700,000& 1204 & 8,400
o=ssxz1Yd 29 200,000 1204 & 2,400
HMSIETA ZE(NS/EM - MHNR) 56,000 56,000 0
YEZO =4 56,000 56,000 0
=0l ot3tdiol 29 56,000 56,000 0
201 LBt 49H| 56,000 56,000 0
01 At 2eltl 26,000 26,000 0
= 0ff &F 26,000 26,000 0
oger=2Hl 26,000
Omusts +8 Y 2B S M 5,000
OBMEE s8(&821)g S
300,000% * 10 & %53 15,000
Omuss 2RE = M
1,200, 000& *53| 6,000
03 A2 30,000 30,000 0
= 0ff & 30,000 30,000 0
O1n4otztolol 28 ZA=
6,000,000& 53| 30,000
AW B5 L SH(MIEX/20 - HAH) 3,729,406 4,027,131 AN297,725
= 21,130
J| 238,846
= 2,102,403
= 1,367,027
HAEANER2Y 3,563,986 3,864,501 A 300,515
Il 236,006
= 2,085,968
= 1,242,012
dads2 29 456,240 0 456,240
307 QIztold 306, 240 0 306,240
04 OQIZ2SHALAIH E =X 5,000 0 5,000
= 0ff &F 5,000 0 5,000
OFAYU a2 I 5,000
05 QUZtAEF 301,240 0 301,240
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EAM: EEAEN
Hu: HAE 25 U SA(MEST/L0 - HAE)
o BAEAESY CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0f o 2.000 0 2.000
O3 Tz ) &It 1,000
O=2steld HASOote &3 O 1,000
401 AZHIZ =208 4,000 0 4,000
01 Al&UI 4,000 0 4,000
=0l & 4,000 0 4,000
OHAEESAE JISEZ MY 4,000
405  RHA&HFE S 1,200 5,500 A4,300
02 SN 1,200 1,200 0
= 0f 1,200 1,200 0
OFAHESAEH TATLY 1,200
ANAHAEHEWI? 2SS (HAESBAE 2Y) 2,000 2,000 0
Il 1,000
= 1,000
2,000 2,000 0
J| 1,000
= 1,000
2,000 2,000 0
J| 1,000
[ 1,000
2,000 2,000 0
J| 1,000
2 1,000
23 29 2,000
Il 1,000
= 1,000
[SAF BHXI X2 (XI-) 25,740 25,080 660
J| 12,870
[ 12,870
oA 25,740 25,080 660
J| 12,870
= 12,870
JIHAZ =X 25,740 25,080 660
| 12,870
= 12,870
= 0l & 25,740 25,080 660
J| 12,870
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N T == A
Hu: HAE 25 U SA(MEST/L0 - HAE)
o BAEAESY CERT
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 12,870
OMAEXIT AN QIAH (RAE25 2 ) 25,740
oJlz= 22,980
Dl 11,490
o 11,490
OY &SIyl 400,000& *x23] 800
J| 400
o 400
O HZAH| 130,000& = 12& 1,560
Dl 780
o 780
O=ZXH| 400
Dl 200
= 200
HAEX S A BHXI KIS (XA 18,476 0 18,476
101 ol A H| 18,476 0 18,476
03 RIHALZ2ZXNHE S 18,476 0 18,476
= 0ff A 18,476 0 18,476
OMAEUXN AN QAH (HAES2359H) 18,476
[OPIE==1 450,000 x12& 5,400
O&RHHY 105,000& *12& 1,260
OY EFItH| 1,380, 000& *23| 2,760
Oxm=2R 16,000 x10A| 2tx12& 1,920
O22 0y 65,000& 128 780
O9XEII=Y 71,2003 5 356
OEHxyAHAZ 250,000& 128 3,000
o4 2 250,000& 128 3,000
HAaAEAg NS 02100l 2¥ 172,882 171,682 1,200
Dl 86,441
= 25,933
= 60,508
101 jSlals] 83,880 81,540 2,340
J| 41,940
== 12,582
= 29,358
03 RIAHAZZXHE = 83,880 81,540 2,340
J| 41,940
& 12,582
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X ZH -
L=

el

DSHAED
ol €5 Y
SENEPNREEY-

S M=/l - Fad)

o)
4
[pal
o

SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
03 RIAHALZZXHE = = 29,358
= 0l & 83,880 81,540 2,340
Dl 41,940
== 12,582
= 29,358
© ol 24| 83,880
oJleas 1,860,000 x3¥ x12& 66,960
Dl 33,480
== 10,044
o 23,436
OEH®AZ 240,000& »3H = 12& 8,640
J| 4,320
== 1,296
o 3,024
(OFSPrESPORCEES=4 8,280
— HHZAYH| 130,000& *3H x12& 4,680
J| 2,340
o 702
= 1,638
— S Xt 400,000& *3H 1,200
Dl 600
== 180
= 420
— 9 ESJH| 400,000& x3Y x23| 2,400
Dl 1,200
& 360
= 840
201 282 A | 45,260 46,400 A 1,140
Dl 22,630
== 6,790
= 15,840
02 zz22Yl 400 400 0
J| 200
== 60
iy 140
= 0 & 400 400 0
Dl 200
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M sELAEY
BE: HAE 25 U SAMN=N/L0l - Had)
SR HAUANERY (e &
S-S (BN) - ANRAY - BAS o o) HRE2
& 60
- 140
OY =000l 8&ss 280t 400
J| 200
& 60
= 140
03 EAI2GHI 44,860 46,000 A 1,140
J| 22,430
T 6,730
= 15,700
= 0l & 44,860 46,000 A 1,140
J| 22,430
& 6,730
= 15,700
ogu=0o2td0l T2 29 44,860
J| 22,430
& 6,730
= 15,700
301 etEdZ 43,742 43,742 0
| 21,871
= 6,561
i 15,310
09 YALAHIX&AZ 43,742 43,742 0
J| 21,871
T 6,561
= 15,310
= 0l & 43,742 43,742 0
J| 21,871
& 6,561
= 15,310
OYUH=0tItHOl 2SME &It 43,742
J| 21,871
= 6,561
= 15,310
HAESWNS02HMI0l 29 (XA 61,202 0 61,202
101 o144l 41,202 0 41,202
03 RJHLZ2=2NHE S 41,202 0 41,202
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N T == A
Hu: HAE 25 U SA(MEST/L0 - HAE)
o BAEAESY CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
= 0l & 41,202 0 41,202
OFAEHYNSOIIIEOl 21| 41,202
oJlea 300,000& x3H x12& 10,800
O&RHHSH 105,000& *3H x12& 3,780
OY E SOty 1,400,000 *3H *23| 8,400
[@FE SN/ =gy 16, 150 *3H x 10A| 2+ x 122 5,814
O&2 o4l 65,000 *3H x12& 2,340
O X&EIISH 71,200 x3Y x5 1,068
OE&AHZ 250,000 »3H x12& 9,000
201 A E2AH| 20,000 0] 20,000
03 #AIRHH| 20,000 0 20,000
= 0l & 20,000 0 20,000
OFAEHMZOIIMO0 T2 29 20,000
HAEMGSG 2T HEH 29 24,000 24,000 0
== 9,000
= 15,000
201 A E2AH| 22,800 15,800 7,000
== 8,550
o 14,250
01 Ar®2telt] 1,000 1,000 0
& 375
= 625
= 0l & 1,000 1,000 0
== 375
= 625
Ot ZH| 600
= 225
= 375
o2gx¢ 400
== 150
= 250
02 =524l 5,200 2,200 3,000
= 1,950
iy 3,250
= 0l & 5,200 2,200 3,000
== 1,950
o 3,250
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N T == A
Hu: HAE 25 U SA(MEST/L0 - HAE)
o BAEAESY CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
Ot 2104 8] 145,000 »2H x12& 3,480
O XEIN=Y 83,000& x2Y x5 830
O&E®HAZ 280,000& x2H x12& 6,720
[@)=8=~1 400,000& 2H x12& 9,600
OFAUEEARE 22| 35,440
oJlea 100,000& x2H x12& 2,400
OInsx< 110,000& *2H x12& 2,640
OY &5yl 1,400,000 x2H *23| 5,600
OoO=ua== 19,5002 #2H x10A| 2+ x 128 4,680
O2Uel ol 145,000& =»2H x12& 3,480
O XsII=< 104,000& »2H x5! 1,040
OE&AHAZ 300,000& »2H x12& 7,200
[@)=R=-1~1 350,000& x2H x12& 8,400
OFAESEA 2124l 18,700
[OPIE==1 300,000& »2H x12& 7,200
OIs=< 180,000& x2H x12& 4,320
OYESIIHI(HLH) 1,000, 000& *23| 2,000
OYE S IHHI (AI2HAD) 990, 000& 23| 1,980
oAM= 1,000, 000& *23| 2,000
O&ExyAHAZ 100, 000& =128 1,200
OSWHHAEXRAMH(ZBEZ) 21 AHH| 16,400
oJlea 500,000& x2H x12& 12,000
OY EEOtH| 1,100,000 x2H *23| 4,400
K SAS & A EH oA Bt 102,320 100,220 2,100
Dl 51,160
= 51,160
101 jSlals] 80,880 80,880 0
Dl 40,440
o 40,440
03 RIAHLZZXHE S 80,880 80,880 0
J| 40,440
iy 40,440
= 0ff A 80,880 80,880 0
Dl 40,440
= 40,440
OFAEAMSEXME SAHA QHH (SE
X&) 80,880
oJlea 2,720,000 x2H 128 65,280
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SN

A MAW 95 U SE(MESK/R0 - HAY)
©o: BadAESY CERT
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;lﬁ% HRE2
Dl 32,640
= 32,640
OIE=Y 100,000& x2H x12& 2,400
Dl 1,200
o 1,200
[@)=8=-~1 320,000& x2H x12& 7,680
J| 3,840
o 3,840
OY & sIty| 400,000 x2H *23| 1,600
Dl 800
o 800
OFHZAH| 130,000 x2H x12& 3,120
Dl 1,560
= 1,560
OsXNEAE 400,000& x2H 800
Dl 400
= 400
201 2 Bt2 A Y| 17,800 18,440 A 640
Dl 8,900
= 8,900
01 At 2t2ldl 2,000 1,000 1,000
J| 1,000
= 1,000
= 0l & 2,000 1,000 1,000
J| 1,000
o 1,000
OSEXNIAMA 89 AtR 22l 1,000
J| 500
o 500
osgdx< 1,000
Dl 500
= 500
02 33294l 1,600 3,300 A 1,700
Il 800
= 800
= O] & 1,600 3,300 A 1,700
Dl 800
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EAM: EEAEN
Hu: HAE 25 U SA(MEST/L0 - HAE)
o BAEAESY CERT
A EY - SA(B) - NS - B (X o) ) DS
= 800
OsgtNEMH 28 =523l 1,600
J| 800
i 800
03 AI2ZHI 14,200 14,140 60
| 7,100
= 7,100
= 0fl & 14,200 14,140 60
J| 7,100
= 7,100
OsgNEMH =208 299 14,200
Il 7,100
= 7,100
301 etz 3,640 900 2,740
J| 1,820
= 1,820
09 @AIAHIXIREZ 3,640 900 2,740
| 1,820
= 1,820
= Off & 3,640 900 2,740
J| 1,820
i 1,820
OSE X2 HMAH SHAE It 3,640
J| 1,820
i 1,820
HFAGUSEINEZIZOH 2H(XH) 44,140 42,250 1,890
J| 22,070
= 11,035
= 11,035
101 o4l 42,316 40,456 1,860
Il 21,158
= 10,579
= 10,579
03 RIHAZZHE = 42,316 40,456 1,860
J| 21,158
= 10,579
= 10,579
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N T == A
Hu: HAE 25 U SA(MEST/L0 - HAE)
e HAEUAERYE (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
= 0l & 42,316 40,456 1,860
Dl 21,158
== 10,579
o 10,579
OFAESE I 21| 42,316
O&LH 2,150,000& = 12& 25,800
J| 12,900
== 6,450
o 6,450
OAIZ2EH 750,000 128 9,000
Dl 4,500
== 2,250
= 2,250
O22 14,000 x»2H «12& 336
Dl 168
== 84
= 84
O&EdyAHAZ 160, 000& = 12& 1,920
Dl 960
== 480
= 480
OBg = 100,000& x2H x12& 2,400
Dl 1,200
== 600
o 600
OYESIHHI(H L HI) 400,000 x23] 800
J| 400
== 200
o 200
O&XLRIHYY 105,000& = 12& 1,260
Dl 630
o 315
o 315
O=s Xt 400,000 *1H 400
Dl 200
== 100
= 100
OYE S Il (AI2HAD) 200,000 23| 400
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N T == A
Hu: HAE 25 U SA(MEST/L0 - HAE)
©o: BadAESY CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
= 26,771
101 [Slals] 66,943 66,943 0
Dl 46,860
- 20,083
03 RIAHALZZXHE > 66,943 66,943 0
J| 46,860
iy 20,083
= 0ff A 66,943 66,943 0
Dl 46,860
= 20,083
ALSHR Ol A H| 66,943
[OPIR=3=1 2,000,000& x2H x12& 48,000
Dl 33,600
= 14,400
O&LH2 ¢l 80,000& x2H x12& 1,920
Dl 1,344
= 576
Oxm=a22FxY 14,0662 x2H x4 Al 2+ x12& 1,351
Dl 946
= 405
OE&AZ 213,000 »2H x12& 5,112
Dl 3,578
o 1,534
[@)=8=-~1 210,000& »2H = 12& 5,040
J| 3,528
o 1,512
O HZAH| 130,000& *»2H x12& 3,120
J| 2,184
o 936
OY &SIyl 400,000 x2H *23| 1,600
Dl 1,120
= 480
O=s Xt 400,000& x2H 800
Dl 560
= 240
201 B2 A Y| 18,350 18,000 350
J| 12,845
= 5,505




SN BREAEDY
M HAW 95 Y SA(MSEN/L0 - Hau)
©o: BadAESY CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 At 2teltl 1,930 2,000 AT0
| 1,351
= 579
= 0l & 1,930 2,000 AT0
J| 1,351
i 579
oger2 3l 1,930
J| 1,351
i 579
03 AI2ZHI 16,420 16,000 420
| 11,494
= 4,926
= 0ff & 16,420 16,000 420
Il 11,494
= 4,926
oxtdg Zz)d 29 16,420
Il 11,494
= 4,926
301 et Z 3,943 2,637 1,306
J| 2,760
= 1,183
09 dAAHIXEZ 3,943 2,637 1,306
| 2,760
= 1,183
= Ol & 3,943 2,637 1,306
J| 2,760
i 1,183
O0&3E&td 2sHE &It 3,943
J| 2,760
= 1,183
HAELBAL 2N 180,000 670,000 £490,000
401 ANEBL20HY 180,000 670,000 480,000
01 Al&Hl 180,000 670,000 A 490,000
= 0l &F 180,000 670,000 A 490,000
OFALESHAILE 2E IR HY 180,000
HLAHALE S (MEH 2,040,000 2,500,000 A 460,000
= 2,040,000
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EAM: EEAEN
Hu: HAE 25 U SA(MEST/L0 - HAE)
o BAEAESY CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
401 Al&HI 20| 2,040,000 2,500,000 A 460,000
= 2,040,000
01 Al&HI 2,040,000 2,495,000 A 455,000
= 2,040,000
= 0l & 2,040,000 2,495,000 A 455,000
= 2,040,000
ONdZHELEHH HB AL (HEH 2,040,000
= 2,040,000
AZs FadE 54 154,720 151,930 2,790
= 21,130
J| 2,840
= 15,215
= 115,535
NAEHAHEAHI P Y (XH) 2,800 2,800 0
J| 1,400
= 1,400
201  et2I| 2,800 2,800 0
Il 1,400
= 1,400
03 AI2ZHI 2,800 2,800 0
bl 1,400
= 1,400
= 0l & 2,800 2,800 0
I 1,400
= 1,400
OFAEHEUWRARE2Y 2,800
I 1,400
= 1,400
FLAENSE0Y K& 24,000 24,000 0
= 9,600
& 7,200
= 7,200
201  LEt2I| 24,000 24,000 0
= 9,600
= 7,200
= 7,200
03 @AI2ZHI 24,000 24,000 0
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SN

X XH -
S =

nE
2 ssSAd(MI=Z2XN/ES - IIEL0Y)
£ t

el SEX A CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
307  glztol A Il 21,710
= 6,513
= 15,197
05 CIZtRAEZ 43,420 42,440 980
| 21,710
= 6,513
= 15,197
= 0l & 43,420 42,440 980
J| 21,710
& 6,513
= 15,197
O03==s0tlsH 2I X2 43,420
J| 21,710
& 6,513
i 15,197
SSFO0tUsHE =4 (XA 5,000 0 5,000
405  RHAHFESHI 5,000 0 5,000
01 &Y ESSFHSHI 5,000 0 5,000
= Off & 5,000 0 5,000
O=ss0tUsH =4 5,000
otolE=s XI& 743,835 512,216 231,619
= 520,684
& 65,664
= 157,487
307  gI2tol A 743,835 512,216 231,619
520,684
= 65,664
= 157,487
1M AMISRAMBEE 743,835 512,216 231,619
= 520,684
= 65,664
= 157,487
= 0l & 743,835 512,216 231,619
= 520,684
= 65,664
i 157,487
ootolss XA 743,835
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SN DSHLED
& B 228X (MIASX/BE] - IIFLAY)
@ SSXNIAG (e &
SA BB (AH) - HBAY - BA= o) ) HDE 2
= 520,684
= 65,664
i 157,487
orolEss XI&(KHA) 10,800 5,184 5,616
307  QI2t0l & 10,800 5,184 5,616
11 AMISAAMBES 10,800 5,184 5,616
= 0l & 10,800 5,184 5,616
OA WOt Ol otol=&S XI& 10,800
33t OLOIAMEY B2 T2 (FEE =000 At 30,000 0 30,000
)
= 30,000
401 A&BIZ=2UH 10,000 0 10,000
& 10,000
01 Al&HI 10,000 0 10,000
< 10,000
= 0l & 10,000 0 10,000
= 10,000
o224 gl 10,000
& 10,000
405  RHA&HFESHI 20,000 0 20,000
= 20,000
01 &L 2SFHSHI 20,000 0 20,000
= 20,000
= 0l & 20,000 0 20,000
= 20,000
oL L W37l 20,000
= 20,000
B IEXN(AMIASXN/ER - HNELAHY) 10,194,319 11,047,329 A 853,010
= 4,096,198
== 3,790,097
= 2,308,024
2|8ty 9,779,619 10,405, 337 A625,718
= 4,005,198
& 3,744,597
= 2,029,824
ESHIXA 5,604 6,104 A500
201 eI 3,000 3,000 0
|
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M sELAEY
& B IEXNA(AMISX/BE] - IISLAY)
TP PITTE Y CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 At 2teltl 3,000 3,000
= 0f 3,000 3,000 0
o2d3=Y Y AIR22/H| 3,000
203 YR F=&Hl 500 1,000 A500
03 AMHMFXHRFXH 500 1,000 A500
= 0l & 500 1,000 A500
CEEIEERN 500
301 YHEEI 2,104 2,104 0
09 BAAHINRAZ 2,104 2,104 0
=04 2,104 2,104 0
OE=udd s AHEAZ
52,6003 x40H 2,104
ESNIR U= 18,350 18,350 0
201 et I| 16,600 16,600 0
03 At2ZH| 16,600 16,600 0
= 0l & 16,600 16,600 0
OBE=udd W=s 1,200, 000& *33| 3,600
OEsuWARA YIS 12,000, 000& *13| 12,000
OEsuWERAS 2 A 1,000, 000& *13| 1,000
301 LEtEdEZ 1,750 1,750 0
09 BAAHIXIHZ 1,750 1,750 0
=0 1,750 1,750 0
OEB=uA@2 & HA 7,000& x250H 1,750
EsUAA olAHy XA 2,020,280 2,270,482 A 250,202
= 1,010,140
& 505,070
v 505,070
307 glztol A 2,020,280 2,270,482 A 250,202
= 1,010,140
= 505,070
= 505,070
10 MIISAANEEHE2IHES 2,020,280 2,270,482 A 250,202
= 1,010,140
= 505,070
= 505,070
= 0l & 2,020,280 2,270,482 A 250,202
= 1,010,140
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N T == A
HM: 22 I (MIAEXN/BEE - IIELHY)
Ee: BEx)|8tX Y (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
& 505,070
= 505,070
OBEnAJ A 2,020,280
= 1,010, 140
== 505,070
o 505,070
B HR2MH XA 764,386 627,680 136,706
= 382,192
== 191,097
= 191,097
307 QIz2tol & 764,386 627,680 136,706
= 382,192
== 191,097
= 191,097
11 AMISIAMEEX 764,386 627,680 136,706
= 382,192
== 191,097
= 191,097
= 0l & 764,386 627,680 136,706
= 382,192
== 191,097
- 191,097
O &2 WA NI &I 387,119
= 193,559
== 96,780
o 96,780
OB X1 AR 21| 368,067
= 184,033
== 92,017
o 92,017
O CH Xl 12 At 9,200
= 4,600
= 2,300
= 2,300
oelold I XS (WA w2dl) 10,000 11,400 A 1,400
= 5,000
== 2,500
o 2,500
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SM: DEEAED
& B IEXNA(AMISX/BE] - IISLAY)
TP PITTE Y CERT
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
307  glztol A 10,000 11,400 A 1,400
= 5,000
& 2,500
= 2,500
10 AMSSAAEEI2GHES 10,000 11,400 A 1,400
= 5,000
< 2,500
= 2,500
= 0ff &F 10,000 11,400 A 1,400
= 5,000
= 2,500
= 2,500
O M+l 10,000
= 5,000
& 2,500
= 2,500
Oglold 29XA(HeF29|) 34,000 29,400 4,600
2 17,000
& 8,500
v 8,500
307 glztol & 34,000 29,400 4,600
17,000
& 8,500
= 8,500
10 AL SXTAEEE2ZHIES 34,000 29,400 4,600
= 17,000
= 8,500
= 8,500
= 0l & 34,000 29,400 4,600
= 17,000
= 8,500
= 8,500
OXtee Il 34,000
= 17,000
& 8,500
= 8,500
XAl (XHA) 37,200 37,200 0
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EAM: EEAEN
B 2R ISUA(MIZK/ES - HEL0M)
t¢elr B4 (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
307  glztol A 37,200 37,200 0
10 AL SXTAEEE2ZHIES 37,200 37,200 0
= 0l & 37,200 37,200 0
OXE23Hl FIHXE 37,200
IR0t Ex2 A& 3,214,879 3,508,547 A 293,668
= 2,089,671
= 562,604
[ 562,604
301 et 3 3,214,879 3,508,547 A 293,668
= 2,089,671
& 562,604
= 562,604
01 A EEESGH S 3,214,879 3,508,547 A 293,668
= 2,089,671
= 562,604
i 562,604
= 0l & 3,214,879 3,508,547 A 293,668
= 2,089,671
= 562,604
= 562,604
09 R0EE2 X2 (0-2A) 3,214,879
= 2,089,671
& 562,604
= 562,604
dRoEE2 XA (Z4H]) 2,241,952 2,516,040 A 274,088
= 2,241,952
301 etEdza 2,241,952 2,516,040 A 274,088
= 2,241,952
01 A EEESHS 2,241,952 2,516,040 A 274,088
= 2,241,952
= 0l & 2,241,952 2,516,040 A274,088
= 2,241,952
O el & (3-5A41) 2,241,952
& 2,241,952
HELd=xg AR 767,469 877,085 A 109,616
= 498,855
& 134,307
= 134,307
s




SM: DEEAED
& B IEXNA(AMISX/BE] - IISLAY)
TP PITTE Y CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
301 detedzg 767,469 877,085 A 109,616
= 498,855
& 134,307
= 134,307
01 MIBHEE=HS 767,469 877,085 A 109,616
= 498,855
< 134,307
= 134,307
= 0ff &F 767,469 877,085 A2 109,616
= 498,855
= 134,307
= 134,307
ONZLYsH 767,469
= 498,855
& 134,307
= 134,307
ESUHIA MM 121,600 124,557 A2,957
& 24,320
= 97,280
307  glztol A 121,600 124,557 AN2,957
& 24,320
= 97,280
11 AMISAASEE 121,600 124,557 A2,957
= 24,320
i 97,280
= 0l &F 121,600 124,557 A2,957
= 24,320
= 97,280
OEsWHI MM 121,600
= 24,320
= 97,280
BSUAIA HRIMA (XA 30,600 26,760 3,840
307 QIztol M 30,600 26,760 3,840
11 AMSSAAHEES 30,600 26,760 3,840
= 0ff & 30,600 26,760 3,840
OEsUWAMN BIZs5E 30,600
Q2o ol &8 e A=l 5,800 8,200 A2,400
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M sELAEY
& B IEXNA(AMISX/BE] - IISLAY)
TP PITTE Y CERT
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
= 1,740
= 4,060
307 glztol & 5,800 8,200 A2,400
& 1,740
= 4,060
11 AMISAAMBEE 5,800 8,200 A2,400
== 1,740
[ 4,060
= 0l &F 5,800 8,200 A2,400
= 1,740
= 4,060
Qo2 IIENE 0l HEH=H 5,800
= 1,740
= 4,060
Helold gotet 2Zeds XA 32,400 0 32,400
= 9,720
= 22,680
307 QIztol M 32,400 0 32,400
= 9,720
= 22,680
11 AL SXAIEE X 32,400 0 32,400
= 9,720
= 22,680
= 0l & 32,400 0 32,400
= 9,720
= 22,680
ONEolE Zotgt 2Feds X 32,400
= 9,720
= 22,680
S3ENHE0E BExEE XIAAY 12,120 0 12,120
= 3,636
= 8,484
307  QI2tol A 12,120 0 12,120
& 3,636
= 8,484
11 ASSAAHEES 12,120 0 12,120
= 3,636

_53_




M sELAEY
& B IEXNA(AMISX/BE] - IISLAY)
Bel 2RIIUEl (ct9l: &2
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
11 AMSSXALEES = 8,484
= 0l & 12,120 0 12,120
& 3,636
= 8,484
O3380e0d E=E& NI md 12,120
& 3,636
= 8,484
Helold CHAM A XI& 3,200 3,200 0
307  glztol A 3,200 3,200 0
11 AMISAAMBEEE 3,200 3,200 0
= 0l & 3,200 3,200 0
OV olE A wWA XI& 3,200
F AR 012 X9 48,100 53,040 £4,940
= 9,620
= 38,480
307  glztol A 48,100 53,040 A4,940
== 9,620
i 38,480
11 AMISAAMBEE 48,100 53,040 A4,940
& 9,620
= 38,480
= 0ff &F 48,100 53,040 A4,940
= 9,620
= 38,480
OF AA 12| 48,100
& 9,620
= 38,480
FALR oAl X&(XHA) 21,600 21,600 0
307  gIztol A 21,600 21,600 0
11 ASSAAIEEX 21,600 21,600 0
= 0l & 21,600 21,600 0
OEIeIE JIENE0E FHAH XA 21,600
B2z BEE2xda A& 153,120 174,420 AN 21,300
307  gIztol A 153,120 174,420 A21,300
11 AMSSKAEEX 153,120 174,420 A 21,300
= Off & 153,120 174,420 A21,300
ORZIENE0E Exs2R8E228= K& 153,120
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N T == A
HM: 22 I (MIAEXN/BEE - IIELHY)
Ee: BEx)|8tX Y (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Helold 222Yd 853 A& 225,927 72,528 153,399
== 45,185
o 180,742
307 212t0l A 225,927 72,528 153,399
== 45,185
= 180,742
11 Al SXAIEE X 225,927 72,528 153,399
== 45,185
= 180,742
= 0l & 225,927 72,528 153,399
== 45,185
o 180,742
ONeold 228 222 XA 225,927
== 45,185
o 180,742
OR0E DY 240S 1,880 1,740 140
2 940
== 470
= 470
307 QI2t01 A 1,880 1,740 140
= 940
== 470
- 470
11 AMISIAMEEX 1,880 1,740 140
= 940
== 470
= 470
=0l & 1,880 1,740 140
= 940
== 470
o 470
OE=WaA B0 A 1,880
= 940
== 470
o 470
EO02LHEY A (XE) 2,800 6,000 N 3,200
= 1,400
== 700
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EAM: EEAEN
B 2R ISUA(MIZK/ES - HEL0M)
t¢elr B4 (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 700
307  glztol & 2,800 6,000 A 3,200
= 1,400
= 700
= 700
11 MISXNALES 2,800 6,000 A 3,200
= 1,400
= 700
= 700
= 0l & 2,800 6,000 A 3,200
= 1,400
= 700
= 700
OR2ZLIHEH 29I 2,800
= 1,400
= 700
= 700
Helold Bz 6,352 7,104 ANT52
= 3,176
= 3,176
307  gIztol A 6,352 7,104 AT52
= 3,176
i 3,176
11 AMISAAMSEE 6,352 7,104 ANT52
= 3,176
= 3,176
= 0ff &F 6,352 7,104 AT52
= 3,176
= 3,176
O0eold tdEEZ 6,352
& 3,176
= 3,176
ESANEXA 414,700 641,992 AN227,292
= 91,000
& 45,500
= 278,200
OHelold JIs2d(Bx) 13,540 122,000 A 108,460
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N T == A
HM: 22 I (MIAEXN/BEE - IIELHY)
e BE=AIEXE (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;lﬁ% HRE2
= 6,770
= 3,385
o 3,385
402 QI2tXE01 A 13,540 92,000 ANT8,460
= 6,770
== 3,385
= 3,385
02 QIAX2AILEZ(0IETHE) 13,540 92,000 NT8,460
= 6,770
== 3,385
iy 3,385
= 0l & 13,540 92,000 ANT8,460
= 6,770
== 3,385
= 3,385
Os2A0e0lE &yl 2,000
= 1,000
== 500
- 500
ONEolE NS ZAAE EHlH 11,540
= 5,770
== 2,885
o 2,885
SSENHE0IE SHH| 160,000 150,000 10,000
2 80,000
== 40,000
= 40,000
307 QIz2tol & 160,000 150,000 10,000
= 80,000
== 40,000
= 40,000
10 AISISXAIEEHES2IHIEX 160,000 150,000 10,000
= 80,000
== 40,000
= 40,000
= 0l & 160,000 150,000 10,000
= 80,000
== 40,000
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M sELAEY
B 2R ISUA(MIZK/ES - HEL0M)
@4 ESAEXA (e &
SA BB (AH) - HBAY - BA= o) ) HDE 2
= 40,000
O=3280Heod 29| 160,000
= 80,000
= 40,000
i 40,000
IS0l E K& 144,800 144,800 0
307 QlZtold 144,800 144,800 0
11 AMSSAANSEE 144,800 144,800 0
= 0l & 144,800 144,800 0
O&IIBHE0lE XA 144,800
Helold 2ENA(sHELMEAMRI0E) 8,460 8,472 A12
= 4,230
= 2,115
= 2,115
307  glztol A 8,460 8,472 A2
= 4,230
= 2,115
= 2,115
10 Al SEXANEEE2ZHEX 8,460 8,472 A12
= 4,230
= 2,115
= 2,115
= 0l & 8,460 8,472 A2
= 4,230
= 2,115
= 2,115
ogoonaod XA 8,460
= 4,230
= 2,115
i 2,115
F70F =2hAHl XA 87,900 96,720 A8,820
307  2I2tol A 87,900 96,720 A8,820
11 AMISAAMSEE 87,900 96,720 A 8,820
= 0l &F 87,900 96,720 A8,820
O0Eold R0t 22+AHl XI& 87,900
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